Financial Data (Efficiency and Soundness)

M#BT—4 (M ReH)

M Consolidated &% M Non-consolidated &3

| Total Assets (¥ billion)
BEE (+EM)

2,400

‘ [ Equity (¥ bilior)
B2&F (+EM)

1,200

1,800 900
1,200 600

600 300

0 0

‘05 06 ‘07 ‘08 '09 ‘05 ‘06 07 1112

\ | \
| Total Assets Turnover (times) ‘ | Equity Ratio (%)
HEEEEEE (3) BS&ARLLE (%)
_ 12 I __60 I
s - w0 M -

04 20

0
‘ ‘05 06 ‘07 ‘08 '09 ‘ ‘ ‘05 06 07 1 12
DOWN For the years ended March 31 BABIRICHT L1 2005 2006
LOAD CONSOLIDATED )
\/ Total Assets (¥ million) #waeE (mHM) 1,668,734 1,693,898
ROA (Return on Assets) (%) ROA (MMEEFZZE) (%) 5.04 3.69
Equity (¥ million) BoEAs (HHH) 648,766 728,231
ROE (Return on Equity) (%) ROE (B &EAFZE) (%) 13.48 9.02
Interest-bearing Debt (¥ million) BRFafEES (8AM) 624,105 559,911
Net Interest-bearing Debt (¥ million) v NERTFEEERS (BAM) 570,859 510,890
Fund-raising Expenses (¥ million) SMER (BHM) 13,134 11,014
Total Assets Turnover (times) e R (E) 0.71 0.75
Equity Ratio (%) HEEALE (%) 38.88 42.99
Current Ratio (%) TRENLLEE (%) 98.02 102.91
D/E (Debt-Equity) Ratio (times) D/E L># (£2) 0.96 0.77
Interest Coverage Ratio (times) AVELAN-ANLY D LT (15) 16.5 15.9
Interest Payment Ratio (%) BEFFE (%) 2.01 1.86
TEP (¥100 million) TEP (f&M) 465 229
WACC (%) WACC (%) 3.6 37
NON-CONSOLIDATED {ERY
Total Assets (¥ million) waEE BFM) 1,382,265 1,396,728
ROA (Return on Assets) (%) ROA (HEEFIZE) (%) 5.63 3.98
Equity (¥ milion) BoER (HHM) 574,059 642,953
ROE (Return on Equity) (%) ROE (B2 &AFI#=) (%) 14.12 9.09
Interest-bearing Debt (¥ million) FRFaE%ks (BhMH) 501,407 444,208
Net Interest-bearing Debt (¥ million) v NERIFEERS (BHM) 461,579 379,490
Fund-raising Expenses (¥ million) SER (BHM) 10,349 8,230
Total Assets Turnover (times) HREFEREE (/) 0.73 0.78
Equity Ratio (%) BOEALE (%) 41.53 46.03
Current Ratio (%) MENLEEE (%) 100.07 98.29
D/E (Debt-Equity) Ratio (times) D/E L>7F (£5) 0.87 0.69
Interest Payment Ratio (%) EEF)FE (%) 1.92 1.74

Net Interest-bearing Debt = Interest-bearing Debt — Cash and Deposits
Fund-raising Expenses = Interest Expenses + Interest on Bonds + Amortization of

Bond Issuance Cost

Total Assets Turnover = Net Sales / Total Assets (average)
Equity Ratio = Equity (year-end) / Total Assets (year-end) x 100
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2007 2008 2009 2010 2011 2012 2013 2014 o
5
1,692,635 1,703,651 1,764,185 1,840,972 1,829,661 1,863,885 1,992,403 2,176,816 g
5.95 2.50 2.41 2.98 5.20 2.49 5.27 5.20 -
795,101 769,072 772,365 813,886 858,920 839,166 927,634 1,011,787 33
13.22 5.43 5.41 6.78 11.41 5.42 11.51 11.18 \L
525,467 558,716 593,230 555,919 584,169 625,830 642,550 713,823
482,851 512,624 526,325 448,523 493,867 545,681 561,881 640,844
10,369 10,460 10,869 10,303 9,689 10,184 11,366 12,313
0.81 0.88 0.96 0.79 0.84 0.95 0.99 1.01
46.97 45.14 43.78 44.21 46.94 45.02 46.56 46.48
112.60 106.76 118.99 120.93 142.26 1566.89 162.16 156.67
0.66 0.73 0.77 0.68 0.68 0.75 0.69 0.71 Q
18.6 17.9 14.0 27.3 16.4 14.6 19.4 20.1 g
1.91 1.93 1.89 1.79 1.70 1.68 1.79 1.82 2
538 17 -48 186 626 91 598 507 g
3.8 3.6 3.4 3.2 3.3 3.1 3.2 3.2 2
g?_
1,382,259 1,401,464 1,472,344 1,543,535 1,501,164 1,543,598 1,646,574 1,763,621 %
6.65 2.15 1.75 2.58 4.43 2.35 4.92 5.28 Tl
703,173 660,000 662,658 683,995 713,980 690,732 744,329 773,280 Ry
13.72 4.39 3.79 5.77 9.66 5.08 10.95 11.87
414,275 465,276 506,876 483,773 518,478 574,458 608,295 671,014
391,134 453,446 483,762 427,400 478,188 558,453 586,387 648,906
7,403 7,858 8,862 8,465 8,324 8,904 9,692 10,572
0.84 0.91 1.01 0.80 0.87 1.02 1.07 1.12
50.87 47.09 45.01 44.31 47.56 44,75 45.20 43.85 2z
109.05 98.82 101.19 99.64 101.47 125.07 127.73 123.02 }3
0.59 0.70 0.76 0.71 0.73 0.83 0.82 0.87 g
1.72 1.75 1.81 1.69 1.62 1.60 1.60 1.62 W
Current Ratio = Current Assets (year-end) / Current Liabilities (year-end) x 100 MBHLR=TBEE HiFR) —REBEME (F) X100 ‘?‘,g
Debt-Equity Ratio = Interest-bearing Debt (year-end) / Shareholders’ Equity (year-end) TYN-IUAT« LIF=FHNFEME EF) -B2EK IFR) *
Interest Coverage Ratio = Operating Cash Flows / Interests Expenses AVELAN - ANLY D LA =BEEBICLDF vy 1 TA—FIBILR
Interest Payment Ratio = (Interest Expenses + Interest on Bonds) / Interest-bearing BEFFER= (ZIFE+HHERR) ~BFFEE #FFEH) X100
Debt (average) x 100 TEP=851% - FILRIFIZE - EARIA N (BAFEEIA MHHEEERIAN)

TEP = After-tax & pre-interest-payment profit — capital cost (cost of interest-bearing debt +
shareholder capital cost)
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